LIERDFE
2R A(c5: 237
(4x* + 2)(3x— 7) (9+ 9% (2x + 8)
(6x> — 2)(4x +7) (3 - 8x)(5x+7)
(4— 32 (x+3) (9% — 1)(2x - 9)
(8 + 3x)(5x — 6) (2x+ 7)(9x + 1)
(1— 52 (x+4) (5x— 4)(7x—2)
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BE: HICE: 27:
4% +2)3x—7) 9+ 9 (2x + 8)

12x° — 28%% + 6x — 14

(6% — 2)(4x +7)
24x7 + 42x* — 8x — 14

(43 (x +3)
—3x° = % +4x+ 12

(8+ 3x)(5x— 6)
155> + 22x — 48

(1- 52 (x +4)

—5x> — 205" +x+ 4

18x° + 72x% + 18x + 72

B—8)(5x+17)
—40x% — 41x + 21

(9 — 1)(2x—9)
18x° — 81x%> —2x+ 9

(2x + 7)(9x + 1)
18x° + 65x+7

(5x—4)(Tx—2)
35x%> — 38x + 8

www.snowmath.com



https://www.snowmath.com

